
Y4 – Summer – Block 1 – Step 2 – Make a whole with hundredths Answers

Question Answer

1

a) 27
b) 73
c) 27 hundredths + 73 hundredths = 1 whole

2

62 hundredths are on the left.
38 hundredths are on the right.
0.62 + 0.38 = 1

3
a) 0.73 + 0.27 = 1
b) 0.59 + 0.41 = 1

4

a)

b)

c)

d)

5

The two numbers need to sum to 100 hundredths.

6
0.76 m

1

0.92

0.47

✔︎✔︎

✔︎

0.56



Question Answer

7

a) 0.9
b) 0.99
c) 0.97
d) 0.21
e) 0.2
f) 0.46

8

shorter
One string is 64 ÷ 2 = 32 cm long.
3 × 32 = 96 cm, which is shorter than 100 cm.

9

6
10+ 0.4 = 1

19
100+

8
10 + 0.01 = 1

0.2 + 0.5 +
30
100 = 1

other ways of making 1:

8
10+ 0.2 = 1

19
100+

6
10 + 0.01 + 0.2 = 1
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